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A.SSE.A.2: Factoring Polynomials 5
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Factored completely, the expression
12x* + 10x> — 12X’ is equivalent to

1) x*(4x+6)(3x—2)

2)  2(2x* +3x)(3x* —2X)
3)  2x°(2x—3)(3x +2)
4) 2X*(2x+3)(3x-2)

Factor:

Factor:

Factor:

Factor:

Factor:

Factor:

Factor:

Factor:

Factor completely: 3t” +5t> — 12t

2x% +16x7 +32x°

2X% +3x -2
3a’+a-2

3% —5x—12
43’ +9a-9
4a’ +11a-20
10x* +11x— 6
16¢* —48c +35
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Name:

Factor: 12a’+14a-6

Factor 6x° +33x* — 63x completely.

Factor: 9x* — 12x° +4x?

Factor: X" +— +—

Factor: x® —1

Factor: x* —16

Factor: 1 ——

Factor the expression 12t* — 75t* completely.

Factor: x* —(x —6)*

Factor: a*+a”+1

Factor: x* +4x* +16



A.SSE.A.2: Factoring Polynomials 5
Answer Section

1 ANS: 4
12x* + 10x7 — 12x* = 2x*(6X> + 5X — 6) = 2x* (2x + 3)(3x - 2)

REF: 061008a2
2 ANS:

22X (X +4) (X +4)

REF: 019004al

3 ANS:
2x-1D(x+2)

REF: 069503al

4 ANS:
(Ba-2)(a+1)

REF: 069802al

5 ANS:
Bx+4)(x-3)

REF: 030501al

6 ANS:
(4a-3)a+3)

REF: 099503al

7 ANS:
(4a—5)(a+4)

REF: 010502al

8 ANS:
(5x-2)(2x+3)

REF: 090402al

9 ANS:
(4c-T7)(4c-5)

REF: 069707al

10 ANS:
t(3t—4)(t+3)

REF: 010111siii
11 ANS:
2(2a+3)3a-1)

REF: 060502al
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ANS:
6X° +33x* — 63x

3x(2x* +11x - 21)
3X(X+7)(2x - 3)

REF: 061628a2
ANS:

X (3x —2)(3x - 2)

REF: 039506al
ANS:

2 {2 1
g5 )
REF: 030003al

ANS:
<+ DX+ DX+ D(x=1)

REF: 019506al
ANS:

X + (x> +2)(x* -2)

REF: 099403al
ANS:

oyt

REF: 039404al
ANS:

12t* — 75t = 3t*(4t* - 25) = 3t*(2t* + 5)(2t* - 5)

REF: 061133a2
ANS:

(X> =X+ 6)(X+3)(X—2)

REF: 039005al
ANS:

@ +a+D@ -a+1)

REF: 069707al
ANS:

X7 +2X+4)(X> —2x +4)

REF: 069404al
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